Math 115 - Quiz 3 Name __Key
September 11, 2014 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (1 point) Joanna sells childrens’ t-shirts. One morning she sold 14 shirts—their sizes
are shown below.

6, 10, 8, 12, 12, 8,12, 6, 10, 12, 12, 12, 6, 12
Someone asked Joanna the size of her average customer. Should she report the mean,
median, or mode? Why?  Tye MORE Y FH’LOEAQL% merT o THIS ConTEXT,
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2. (4 points) The frequency distribution shown below gives the salaries (in thousands of
dollars) of the employees at a small company.

| Salary (thousands of $) | Frequency |

12.5-27.9 5
28.0-43.4 13
43.5-58.9 8
59.0-74.4 0
74.5-89.9 2

(a) Determine the class midpoints.

90.9, 36.7, 5.8, 46.7, 89.2

(b) Use class midpoints to compute the mean salary.

_ 5(s0.8) + /3(35.7) + 8(51.8) + © (¢6.7) + 9(89.9) _ohsat
(c) Use class midpoints to compute the median salary. & Q:\kOizo%,
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(d) Which is a better measure of center, the mean or the median? Why?
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